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1 The International Space Station was creaked bj
NASA,

2@ The space shuttle flies inverted when it takes
off. This allows
ot greater speed.

3@ The ISS was builk by taking parts from Earth into
space,

4ENASA stands for National Aeronauties and Space
Administration

s E ©The Falcon 9 is a reusable rocleet.
6E3EAUsing reusable rockets allows Space X to save
mohey alk

7@ The Soviet N-1 was the coun&erpar& of the U.S

¥~ The orange exterhal fuel tanlk carries enough
fuel to be able to work all three engines,

|

9-The Bush Administration decided to retire the
Space Shuttle Program.

10- The factors that caused the Space Shuttle
Program to shut down were:

1. high costs

2. slow turnaround,

3.

few customers, and

major safety problems
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